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DELHI PUBLIC SCHOOL JAMMU
Session 2019-20

Revision Sheet (CYCLE TEST-1)

Topic : Numbers & Numeration, Roman Numerals
IV Subject : Mathematics
SECTION-A
The smallest 4-digit number added to the smallest 3-digit number is
a) 9999+999 b) 1000+100 C) 10004999
Which number has 9 in millions place?
a) 7,346,993 b) 9,473,003 C) 6,432,900
The face value of 6 in 3,46,998 is
a) 6000 b) 60 C) 6
Place value of 3 in 8,63,982 is
a) 3000 b) 300 C) 30
Sum of XXIX and XL is :
a)  XLIX b) L c) LXIX
2875 when rounded off to the nearest 1000 is
a) 2000 b) 3000 C) 4000
Numeral for one lakh seventy five thousand is .
a) 1,75,000 b) 1,00,750 C) 1,00,075
Which is same as 20 tens
a) 20 b) 200 C) 2000
Roman numeral for 49 is :
a)  XLIX b)  LXIX c)  XIXL
Short form of 80000 + 900 + 60 is
a) 896 b) 80,960 C) 80,906
SECTION-B

Write the numeral with commas

a) One lakh seventy two thousand two hundred twenty.

b) Three hundred fifty five thousand four hundred six.

Write the successor and predecessor of largest 5-digit number.

Write the expanded form of

a) 13,607 b) 3,87,699

Form the largest and smallest 6-digit number by using the digits 9,3,0,5,7,2 in Indian
number system.

Put ><or=

a) 76 XCIX b) 1,93,476 2,93,476
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Write the short form of:

a) 7,00,000 + 40,000 + 3,000 +5

b) 80,000 + 8,000 + 700 + 60

Write the successor and predecessor of

a) 74,392 b) 89,000
Write place value of underlined digits
a) 287, 783 b) 9,11,324

Cost of 1 Laptop is i 45,817. Round off i 45,817 to the nearest thousands.

SECTION-C

Round of 8789 to the nearest tens, hundreds and thousands.
Arrange in ascending order

M, XXIV ,LX , XXXl ,C
Arrange in descending order.
53,475 ; 53,743 ; 53,754 ; 53,000 ; 53,574
Form the smallest and greatest 5-digit number using the digits 3,4,0,8 repeating 8 twice.
Write the Roman numerals for

a) 86 b) 48 C) 69
Write the expanded form for:
a) 8,97,308 b) 79,300

Write numeral for the smallest and greatest 6-digit number in both Indian and International
number system using commas.
Round off to the nearest tens

a) 35 866 b) 1184

Write the answer in Roman numeral

a) XXXIX + XL b) LXIT + XX
SECTION-D

Karan deposited eight lakh and Krishna deposited eight hundred thousand. Write both the
amounts in numeral using commas.

Find the sum of place values of two 5’s in 95,516

Find the difference of the place value and face value of 9 in 3,94,638

Insert commas and write number name for 825143 in both Indian and International number
system.

Solve the following:

a) LVIII - XXXI b) XVII + XXIX

Find the sum of place value and face value of 8 in 8,23,170.

Write the number name for:

a) 3,94,261 b) 3,876, 142



